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Instructions for the Candidates °
. . ) ) °
1. Write your roll number in the space provided on the top of this page. o
2. This paper consists of seventy five multiple-choice type of questions.
3. Atthe commencement of examination, the question booklet will
be given to you. In the first 5 minutes, you are requested to
open the booklet and compulsorily examine it as below :

(i) To have access to the Question Booklet, tear off the paper
seal on the edge of this cover page. Do not accept a booklet
without sticker-seal and do not accept an open booklet.
Tally the number of pages and number of questions
in the booklet with the information printed on the
cover page. Faulty booklets due to pages/questions
missing or duplicate or not in serial order or any
other discrepancy should be got replaced immediately
by a correct booklet from the invigilator within the
period of 5 minutes. Afterwards, neither the Question
Booklet will be replaced nor any extra time will be given.
Each item has four alternative responses marked (A), (B), (C)
and (D). You have to darken the oval as indicated below on the
correct response against each item.
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where (C) is the correct response.

Your responses to the question of Paper Il are to be indicated
in the OMR Sheet kept inside the Booklet. If you mark at any
place other than in the ovals inOMR Answer Sheet, it will not be
evaluated.

Read the instructions given in OMR carefully.

Rough Work is to be done in the end of this booklet.

If you write your name or put any mark on any part of the OMR
Answer Sheet, except for the space allotted for the relevant
entries, which may disclose your identity, you will render yourself
liable to disqualification.

You have to return the test OMR Answer Sheet to the invigilators
at the end of the examination compulsorily and must NOT
carry it with you outside the Examination Hall.

You can take away question booklet and carbon copy of
OMR Answer Sheet soon after the examination.
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Note :

This paper contains seventy-five (75) objective type questions. Each question

carries two (2) marks. All questions are compulsory.

1. For creation of new state out of existing

state, what is required ?
(A) Constitutional amendment alone

(B) Legislation by Parliament based on

a commission report

(C) Legislation by Parliament after
referring the bill to the affected state

and amendment to the Constitution

(D) Legislation by the affected state
approved by the President

2. Which of the following does not reflect
Ajay Hasia Test for identifying state
under Article 12 ?

(A) No deep and pervasive
governmental control upon the
corruption

(B) Entire share capital of the
corporation held by Government

(C) Corporation enjoys state conferred
monopoly status

(D) Transfer of department of

Government to Corporation

K-1813 @

3. Match List — | with List — Il and select the
correct answer by using the code given
below lists :

List-1 List-1I
a) Habeas Corpus (i) Non-
performance
of public duty

(ii) Unlawful
detention

¢) Quo-Warranto (iii) Correctional

direction to
subordinate
courts

(iv) Unlawful

occupation of
public office

(v) Double

jeopardy

b) Mandamus

d) Certiorari

Codes :
a b c d
(@ (i) (i) o (iv)
(i) (i) (iv)  (iii)
iy () () (V)
(iv) (v (i) (i)

4. Which of the following statements are
true ?

(i) Constitution of India does not accept
strict separation of powers

(ii) Constitution of India accepts strict
separation of powers

(iif) Constitution of India prescribes for
independent judiciary

(iv) Part—1ll of the Constitution is
enforceable in the court of law

Choose the appropriate one :

(A) () (iv) (i)

(i) (i)

i) @@ (v)

@i (i) (iv)

(A)
(B)
(C)
(D)
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5. Carefully examine the two statements
given below and choose the correct
answer from the answer code :

Assertion (A) : The Constitution vests
the executive powers of the union in the
President of India.

Reason (R) : President of India is the
Constitutional Head of the state.

Code :
(A) Both (A) and (R) are true and (R) is
the correct explanation to (A).
(B) Both (A) and (R) are true but (R) is
not the correct explanation to (A).
(C) (A)is true but (R) is false.
(D) (A) is false but (R) is true.

6. Which of the following statement is true ?

(A) Superintendence, direction and
control of all elections are vested in
the Election Commission of India

(B) Superintendence, direction and
control of elections to the Parliament,
State Legislatures, Office of The
President of Indian and Vice-
President of India are vested in the
Election Commission of India

(C) Superintendence, direction and
control of all elections except
elections to local bodies are vested
in the Election Commission of India

(D) Superintendence, direction and
control of elections to Parliament
and State Legislatures are vested
in the Election Commission

K-1813
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7. The nature of consultation with Chief
Justice of India in the matters of
appointment of a judge to the High
Court is correctly described as

(A) Inspection of file by the Chief Justice
(B) Concurrence of the Chief Justice

(C) Conformity with the opinion of the
Chief Justice

(D) Formal reference to the Chief
Justice without any obligation to
carry out his wishes

8. The Constituent power of the Parliament
to amend the Constitution

(A) Includes power to amend by way of
addition, variation or repeal of the
provisions of the Constitution

(B) Is unrestricted by any inherent and
implied limitations

(C) Is not procedurally limited and
restricted

(D) lIs extra constituent

9. Who appoints Lokayukta of Karnataka ?
(A) Chief Minister of a State
(B) President of India
(C) Chief Justice of a High Court
(D) Governor of a State

10. “Probably the principal doctrinal barrier
to the development of the administrative
process has been the theory of separation
of powers”. This statement has been
made by

(A) Madison

(B) Wade and Phillips
(C) Montesquieu

(D) Davis

Paper Il
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11. Parliament exercises control over
delegated Legislation through

(A) Prime Minister

(B) Supreme Court of India
(C) Committee of Parliament
(D) Speaker of Lok Sabha

12. Who has originated the doctrine of Rule
of Law ?

(A) Dicey
(C) Black stone

(B) Coke
(D) Halsbury

13. Which of the following is true about the
discretionary power ?

(A) Discretion is the power to make
choice by applying the principles of
rule of law

(B) Discretion is the power to make
choice on the basis of principles of
natural justice

(C) Discretion is the power to make
giving due regard to the legitimate
expectation of the affected parties

(D) Discretion is the power to make
choice between different courses of
action

14. Which of the following is not a ground for
judicial review of administrative action ?

(A) Malafide exercise of power

(B) Violation of principles of natural
justice

(C) Unreasonableness

(D) Lak of legislative competence

15. Which of the following is a reason for the
development of Administrative Law ?

(A) Emergence of globalization
(B) Emergence of social welfare state
(C) Emergence of police state

(D) Emergence of national states

K-1813
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16. The rule that, “a case is an authority for
what it actually decides and is not an
authority for a separation of law that seems
to flow logically from :f” was propounded

by
(A) Lord Halsbury in Quinn V. Leathem
(B) Lord Halsbury in Priestly V. Fowler

(C) Lord Devlin in London Tramways
V. L.CC.

(D) Lord Devlin in Shaw V. D.P.P.

17. According to natural law

(A) There is no distinction between
law and justice

(B) Law depends on justice and
unjust law is no law

(C) Law and justice depend on each
other, but realisation of justice
does not depend on law

(D) Law and justice are independent
but realisation of justice depend
on law

18. The possession is the
(A) Five points in ownership
(B) Ten points in ownership
(C) Seven points in ownership
(D) Nine points in ownership

19. The celebrated essay entitled
‘Determining Ratio Decidendi of Case’
was written by

(A) Goodhart
(B) Winfield
(C) Oppenheiem
(D) Julius Stone
Paper llI



20.

21.

22,

23.

Paper lll

" 9,000 TBA DR Q) BTN

035330 T ETIORTTO ?

(A) D PDT TRRIT B8 23 AN

(B) TIZ T Teneamnldd 3T 25 Inwd

(C) 3030 TCINQETT

(D) @x=m0 mesojam%u@da

pelelelpVeIat @ém@ﬁe&&i ORI

SUTOINFTRTT ATIVOBE HTT

(A) ©808 033,03 B @ZH3
ROBRCRIBLICR

(B) 50501 AOTINE w0FT0ING Foe

TORRO WE AOINT ©Ng 50D

C30TONEWR STFOIT

RRRRTY BOFROI SRINES TR

mmwwg THOERY 3B

(D) m=59e38 rONRSR ToRRRD SN 0Nesedd

3N B3 DUTO TEVFNIRY TWOLBRO 202
RoBegtot FOCINT YUZTRR, SORD :
B2TonR (A) : FTTT) HeOROTE T8,
BROTI BZ0T 008), BHTITNT,
5T (R) : SIROED T BT TR,
eSedmepnt QETRITOT TEY 5T
TIROBTTIN LVPOIILITITD.

DnodeS :

(A) (A) =23 (R) 2T&ER 70 02

(A) i (R) B003nT Q@THCIRNT.
(A) 2 (R) 20ER RO &0
)
)

(©)

(B)
A) 1 (R) BoCInT Q0 @),

(
(C) (A) Ro =33 (R) =,
(D) (A) ) 533 (R) 7o.
SN CIRYTH TFFED BZROWOE SNT ?
(A) TBQODI  (B) BSF,
(©) Rae (D) esOeRRReRDE

24.

25.

26.

27.

Total Number of Pages : 24
‘SET T FRAET 00T 2 DT pk3 00D
0L RRIOD WFFReR0TT
(A) T BLBF WO, TZ, BT DY,
(B) <@0o5R) SRR SO FOTNT
(C) oTTTY_ =T TAIBTINTITT,

TRRETS B RITNT

(D) ©@o05nE) $3030w) mRIgmNc

QRNFT ATRT, TTY, 20, BBod =TeD
EVOERNLD ADTIMOROSH TOS S030HROT
TRT T BRTOWOT MR, Z 1
VTSGR BN A TRETYS, WOFTTN
Z 08902, 2,

(A) ‘A’ 030 3RS BRRT I

(B) ‘A’ 030 Tomomr STBE0D BT
(C) ‘A’ 030 c3RRTe SToG BWERY,

(D) ‘A’ 0320 &BoIE SRR

dd@edoﬁad& WOTI) BFICUE 0TI FTCIOED
DT FTING SNT ?

(A) 5 wmen T3, (B) mow), e T,
(C) x> (D) ==

a’&éj - | Brodrt a’@é}— [l QMO@%@ 5333
ieTat ira@gd 0TS VDCIRCNY ROCINT

VBT SORO :
5&.23 -1 m.; -1

a) Bred aF T (i) TRRIT
AReQROLTS

b) o= oo (il) e T2,

C) =wwe oA (i) SRPF T,

d) @%\)—9 O0FT  (iV) OTTOPE BREED
SR

(v) @d—"«ﬁrj‘gg SRcBROTS

B

TozeSned :
a b c d
(iv)  (iii) (v) (ii)
i) (v) () (V)
(iv)  (iii) (i) (ii)
(

(A
(B
(C) (iv)

D) (i) (i) () (v

)
)
)
)

K-1813



20. The ldea that ‘unjust law is no law’ was
propounded by

(A) Natural law philosophers
(B) Positivist philosophers
(C) Activist judges

(D) Realist jurists

21. According to the theory of social
utilitarianism as propounded by lhering is

(A) Greatest number of people should
get greatest pleasure

(B) The essential body of legal rules is
always based upon social ‘facts’ of
law

(C) A balance is to be struck between
competing interests in the society

(D) Law is a means to social ends

22. Examine the two statements given below
and choose the correct answer from code :

Assertion (A) : The most important
power of an owner is the right to exclude
others

Reason (R) : The owner may grant to
another many of his rights and yet remain
owner.

Code :
(A) Both (A) and (R) are true and (R) is
the correct explanation to (A).
(B) Both (A) and (R) are true but (R) is
not the correct explanation to (A).
(C) (A) is true but (R) is false.
(D) (A) is false but (R) is true.

23. Which of the following is the correlative
of immunity ?

(A) No right (B) Duty
(C) Disability (D) Subjection
K-1813
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The maxim ‘Actus non-facit reum, nisi
mens sit rea’ means
(A) The act is not culpable unless the
mind is guilty
(B) Crime is the result of guilty mind

(C) Incrime intention is relevant, motive
is irrelevant

(D) In crime intention is irrelevant

‘A’ intentionally gives “Z’ a sword-cut or club-
wound sufficient to cause the death ofa man
in the ordinary course of nature. Z dies in
consequence. Here

(A) ‘A’ is guilty of murder

(B) ‘A’ is guilty of culpable homicide
(C) ‘A’ has not committed any offence
(D) ‘A’ has committed an offence

How many persons are needed to call
Robbery a Dacoity ?

(A) Five or more
(C) Five

(B) Four or more
(D) Ten

Match List — | with List — Il and select the
correct answer by using the code given
below lists :

List-1 List-1I
a) Doli incapax (i) Prohibited by
law
b) Mens rea (ii) Forbidden act
c) Mala inse  (iii) Guilty mind

d) Actusreus (iv) Incapable of

committing crime

(v) Bad in itself
Codes :
a b c d
(iv) (i)  (v) (ii)
i) (iv) (i) (v)
iv)  (iii) () (ii)

(
(
(C) (iv)

(D) (i) (i) @)  (v)

A)
B)
C)
D)
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28. Which committee was constituted to
recommend appropriate amendments to
I. P.C. in the light of Nirbhaya Case.

(A) Justice Malinath Committee

(B) Justice Verma Committee

(C) Justice B. N. Krishna Committee
(D) Justice P. V. Reddy Committee

29. Examine the two statements given below
and choose the correct answer from
answer code :

Assertion (A) : Crime is punishable
because it is provided in the law.

Reason (R) : Crime is revolting to the
moral sense of the society.

Code :
(A) Both (A) and (R) are true and (R) is
the correct explanation to (A).
(B) Both (A) and (R) are true but (R) is
not correct explanation to (A).
(C) (A)istrue but (R) is false.
(D) (A) is false but (R) is true.

30. Match the following :

List—1 List-1I

a) Dishonestly i) Criminal
taking property  breach of trust

b) Dishonestly i) Extortion
inducing a
person to

deliver property
c) Entrustmentof iii) Misappropriation

property
d) Appropriating iv) Theft

the property

obtained as

a bailee

Code :

@ () () (d
(A) (v) () @) (i)
(B) (iv) () (i) (i)
(©) (i) @) () (v)
(D) (i) (@) 0  (v)

31.

32.

33.

34.

Total Number of Pages : 24

Which of the following is essential
ingredient to Constitute an offence of
defamation ?

(A) Communication to third party

(B) Communication in the written form
only

(C) Communication in the oral or written
form

(D) Communication in any form

The Air Act, 1981, reflects the outcome
of the

(A) Stockholm conference on Human
Environment, 1972

(B) International Conference on
Air Pollution and Control

(C) Colombian Meeting and
International Conference on
Air-Quality and Public Health

(D) International Conference on
“Biological Relations on Forests to
Climate change and Air Pollution”.

Section 2(e) of Environment Act, 1986,
defines

(A) Environmental Pollutant
(B) Handling

(C) Environmental Pollution
(D) Hazardous Substance

Which one of the following is not a principle
of doctrine evolved for the protection of
environment ?

(A) Public Trust Doctrine

(B) Doctrine of Sustainable Development
(C) Doctrine of Inter-generational equity
(D) Doctrine of vicarious liability
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35. “A green economy in the content of
sustainable development and poverty
eradication” has been the theme of

(A) United Nations Conference on the
Human Development

(B) Rio-Declaration on Environment
and Development

(C) United Nations Conference on the
Sustainable Development

(D) World Summit on Sustainable
Development

36. “Nature exists not for human beings
alone, but for all species” this statement
is related to

(A) Environmental ethics
(B) Natural ethics

(C) Life ethics

(D) Both (B) and (C)

37. Examine the two statements given below
and choose the correct answer from the
answer code :

Assertion (A): Indian tradition is always
in favour of protection of environment.

Reason (R) : Eco-centrism is the part of
Indian culture.

Answer Code :
(A) Both (A) and (R) are true and (R) is
the correct explanation to (A).
(B) Both (A) and (R) are true but (R) is
not the correct explanation to (A).
(C) (A)istrue but (R) is false.
(D) (A) is false but (R) is true.

K-1813
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38. The Chief Executive of the United
Nations Organisation is the
(A) President of General Assembly

(B) Secretary General of United
Nations Organisation

(C) President of The Security Council

(D) Judge of International Court of
Justice

39. Match List — | with List — Il and select the
correct answer by using the code given

below lists :
List—1 List—1I
a) Corfu channel (i) Flag state
case jurisdiction
b) Lotus case (ii) Occupation
of territory
c) Western (iii) Right to
Sahara Case innocent
passage
d) Gulf of (iv) Delimitation
Maine case of maritime
boundary
Codes :
a b c d
(A) () (i) (i) (iv)
B (i) @) (i) (v)
(C) (i) () ()  (v)
(D) (i) (iv) () (i)

40. Recognition de-jure implies

(A) The recognized state fulfils the
requirement laid down under the
international law

(B) International court of justice gives
recognition

(C) That the state fulfills requirements
in fact

(D) That the state is recognized by the
neighbouring state
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41. Which one of the following principles
refers to the binding force of an
international treaty ?

(A) Non liquet

(B) Persona non grata

(C) Opinio d’juris sive necessitaties
(D) Pacta sunt servanda

42. ‘Individual’ in international law, is
of international law.

(A) Only an object
(B) Only a subject
(C) Neither a subject nor an object
(D) Both the subject and the object

43. In which one of the following cases did
the International Court of Justice refrain
from giving its final judgement.

(A) Right to passage case
(B) Nuclear test case

(C) Corfu channel case
(D) Lotus case

44. John Austin has observed that
(A) International law is private law
‘writ large’
(B) International law is code of the rule
of positive international morality

(C) International law is law only
courtesy

(D) International law is vanishing point
of jurisprudence

45. S. 10 of the Indian Divorce Act, allows
either the husband or the wife, on the
presentation of a petition before the
District Court to dissolve the marriage
on the following ground.

(A) Conversion to another religion

(B) Incurably unsound mind for a
continuous period of two years

(C) Suffering from a virulent and
incurable form of leprosy for a
period of two years

(D) In all the above cases

K-1813 @
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46. If a Hindu having a wife, embraces Islam
and solemnizes a second marriage, such

a marriage is
(A) Voidable (B) Void
(C) Valid (D) Irregular

47. Which article of the Constitution of India
deals with Uniform Civil Code ?

(A) Article 43 (B) Article 43A
(C) Article 44 (D) Article 45

48. Sexual harassment of women at work
place has been included in the conduct
rules Rule 3C. This has been included
after the judgement of Supreme Court in

(A) Indira Sawaney
(B) Vishaka Vs. State of Rajasthan
(C) Shabano’s Case
(D) Both (A) and (B)

49. Which Court has jurisdiction to entertain
an application under the Guardians and
Wards Act, 1890, for an order appointing
a guardian ?

(A) Civil Court Junior Division
(B) Civil Court Senior Division
(C) District Court

(D) High Court

50. Restitutional of conjugal rights can be
claimed
(A) When there is a withdrawal by one
party from the society of other with
an excuse

(B) When there is a withdrawal by one
party from the society of other
without any reasonable cause

(C) When there is withdrawal by one
party from the society of other
without any absolute cause

(D) Both (B) and (C)
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51. Examine the statements given below and
choose the correct answer from answer
code :

Assertion (A): In the proceedings before
the family court on a petition for divorce
there is a provision for counselling.

Reason (R) : Broken families may be a
threat for the maintenance of social order.

Answer Code :
(A) Both (A) and (R) are true and (R) is
the correct explanation to (A).
(B) Both (A) and (R) are true but (R) is
not the correct explanation to (A).
(C) (A)istrue but (R) is false.
(D) (A) is false but (R) is true.

52. The European Convention on Human
Rights is predominantly concerned with
which of the following ?

(A) Economic and social rights
(B) Environmental rights
(C) Civil and political rights

(D) Economic freedom

53. Who is the present Chairperson of
National Human Right Commission ?

(A) Justice S. Rajendra Babu
(B) Justice K. G. Balakrishnan
(C) Justice Altamas Kabir
(D) Justice S. H. Kapadia
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54. Match List — | with List — Il and select the
correct answer by using the code given

below lists :
List—1 List—1I
a) Magna Carta (i) 1945
b) Code of Hammurabi (ii) 1215
c) UDHR (iii) 1948
d) W.N. Charter (iv) 1750B.C.
Codes :
a b c d
(A) (@) (v) (i) (i)
(B) (iv) (i) (i) ()
(C€) (i) (v) (i) ()
(D) (i) (i) (v) ()

55. First generation rights are set forth in
Articles of Universal
Declaration of Human Rights.

(A) Articles 3-21
(B) Articles 1-11
(C) Not mentioned in UDHR
(D) Articles 3-14

56. Internation Bill of Rights said to consists of

(A) Universal Declaration of Human
Rights (UDHR)

(B) International Covenant on Civil and
Political Rights (ICCPR)

(C) International Covenant on
Economic, Social and Cultural
Rights (ICESCR)

(D) UDHR, ICCPR and ICESCR
Paper Il
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57. Examine the two statements given below
and choose the correct answer from
answer code :

Assertion (A): The Universal Declaration
of Human Rights is an important instrument
on Human Rights.
Reason (R) : Not being a treaty, the
Declaration is not legally binding on
States.
Answer Code :
(A) Both (A) and (R) are true and (R) is
the correct explanation to (A).
(B) Both (A) and (R) are true but (R) is
not the correct explanation to (A).
(C) (A)is true but (R) is false.

(D) (A) is false but (R) is true.

58. Which of the following right is not included
in the convention on the Elimination of All
forms of Discrimination Against Women ?

(A) Right to family

(B) Right against discrimination

(C) Right to have adequate wages for
domestic work

(D) Right to property

59. In M. C. Mehta Vs. Union of India
(AIR 1987 SC 1086) Supreme Court
formulated the rule of

(A) Strict liability
(B) Vicarious liability

(C) Absolute liability
(D) Partial liability
K-1813
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60. Match List — | with List — Il and select the
correct answer by using the code given

below lists :
List-1 List-1I
a) Haynes Vs. (i) Defamation
Harwood
b) Read Vs. (ii) Nuisance

Lyons and Co.

c) Donoughue (iii) Assumption of

Vs. Stevenson risk
d) Boton Vs. (iv) Negligence
Stone
(v) Strict liability
Codes :
a b c d
(A) () (i) (v) (V)
| ) vy @ W
(C) (i) (v)  (iv) (i)
(D) (iv) (v) (i) ()

61. Respondact Superior means
(A) Let the principal be liable
(B) Let the agent be liable
(C) Let both of them be liable
(D)

D) Let none of them be liable

62. The following is not a good defence for
tort of nuisance

(A) Acts done under statutory authority
(B) Acts done for common benefit
(C) Property is put to natural uses of land

(D) Acts done for several years
continuously for 20 years
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63.

64.
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RER VDY TR 20T, 55 RO,
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(A) Borges2(c) (B) @orges32(d)
(C) wowes2(f) (D) Bowes2(e)

A~ N~ o~

65. ILNTYNERD TeohRD :
wé,.i—l Sé,.i—ll
a) Jedeote DT (i) SRy =B
Gap-od LREDEWNTOTT
o) <toleolvan (ii) 9zTTY,
QT %Jeda%")af AGFC0TRN
UOLRT TR,
C) TRR0® MydTT (jii) BedRRE
:ir%@f TFOED aplevics
d) Teea® w3 (iv) eﬂa"u;@;ﬁ@mﬁ
TpeEF OIS WG
(V) QoFE NG
ToBCINEY -
a b c d
(A) () (i) (i) (iv)
(B) (i) (i) (v)  (v)
(C) (iii)y (v) (i) ()
(D) (i) (v) (i) ()
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63. ‘A’ purchased a bottle of soft drink for his
friend ‘B’ from the seller K. Y had
manufactured that soft drink. It contained
contaminated substances resulting in
serious injuries to B soon after
consumption. ‘B’ sues ‘Y’ claiming
damages for fort of negligence. Which of
the following case is applicable here ?

(A) Bourhill V. Young
(B) Ashby V. White
(C) Donogue V. Stevenson

(D) Raylands V. Fletcher

64. The term ‘Consumer’ is defined under
Sec. of Consumer Protection Act

(A) Sec. 2(c) (B) Sec.2(d)
(C) Sec. 2(f) (D) Sec.2(e)

65. Match the following :

List-1 List-1I
a) Rylands (i) Compensation
V. Fletcher for pain and
suffering

b) Donoghue
V. Stevenson

(i) Loss caused by
competition in
business

c) Gloucester  (iii) Strict liability

Grammer
School Case
d) Rose V. Ford (iv) Liability of minor
fortorts
(v) Liability for
negligence
Code :

a b c d
(A) (i) (i)
(B) (i) (i) (v) (V)
(C) (iii) (

(D) (iii)
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The term negotiable instrument is defined

in the Negotiable Instruments Act, 1881

under Section
(A) Section 12

(C) Section 13-A

(B) Section 13
(D) Section 2-D

The Written agreement of partnership is
called

(A) Partnership deed

(B) Articles of association

(C) Memorandum of association
(D) Certificate of incorporation

A person who declares by word of mouth
as a partner of the firm is called

(A) Active partner

(B) Estoppel partner
(C) Dormant partner
(D) Nominal partner

Which of the following document is a
document of title to ‘goods’ within the
meaning of Section 2(4) of the Sale of
Goods Act, 1930 ?

(A) Warehouse Keeper’s Certificate
(B) Warfinger Certificate

(C) Both (A) and (B)

(D) Neither (A) nor (B)

The cheque can be dishonoured except
on which one of the following grounds

(A) Variation in signature
(B) Not bearing the signature
(C) Insufficient funds in the account

(D) No instruction is given by the
account holder for payment

Which of the following Sections confer
general powers to Board of Directors
under the Companies Act

(A) Section 292-A (B) Section 293
(C) Section 297 (D) Section 291
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Read the following passage and answer
questions form 72-75 :

One of the common hazards faced by the
working class in the era of globalization is the
increasing threat to job security, which in turn
negatively impacts the health of female
workers. Among the workers in the informal
sector a large number of them are women, who
have no job security. They are often unskilled
workers who receive low wages. Another evil
of the modern society is the sexual harassment
female workers endure from their male
counterparts and other members of the society.
In 1997, the Supreme Court of India in Visakha
case, instituted a set of guidelines to ensure
the prevention of sexual harassment and to
protect women. The guidelines include rules
against engaging in certain conduct that is
deemed to be sexual harassment. Even the
Supreme Courts guidelines on Instituting
Complain Committees, amending standing
orders and educating workers about sexual
harassment have not been implemented in
most workplaces. For years women have been
working in hospitals, in the telecom department
and in the fish processing industry during the
night shift. Section 66 of the Factories Act
expressly prohibits employment of women in
night shifts. Yet in Smt. R. Vasantha V. Union
of India, the Madras High Court has struck
down Section 66(1) (b) of the Factories Act,
1948 as unconstitutional which prohibit the
employment of women in night shift.

72. Which of the following is the threat
faced by working class as a result of
globalization ?

(A) Sexual harassment
(B) Low wages

(C) Work during night
(D) Threat to job security
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73. Which of the following is true about the
women workers in informal sector ?

(A) They are skilled workers who
receive low wages

(B) They are unskilled workers who
receive low wages

(C) They are skilled workers receiving
decent wages

(D) They are unskilled workers not
protected by law

74. Which of the following is not included in
the guidelines issued by the Supreme
Court in Visakha Case

(A) Constitution of Complaint
Committee

(B) Inclusion of right to dignity of women
in Part-11I of the Constitution

(C) Amending of standing orders

(D) Educating workers about sexual
harassment

75. Which of the following is the correct legal
position regarding the employment of
women in night shift ?

(A) Itis expressly prohibited by a
statute and the provision is not
struck down by a court of law

(B) It is not prohibited by any statutory
provision

(C) ltis prohibited by the decision of the
Madras High Court

(D) Though itis prohibited by a statutory
provision, the provision has been
struck down by the decision of a
High Court
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